Problem 13.64

Find the steady state response Io(t) for the network shown the fig.
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Suggested Solution


[image: image2.wmf]1S

Va

1/S

Vb

+







V

0





_

2I

0



[image: image3.wmf]1

21

120

()8cos2

()4cos2

at steady state 

80

40

()

0

A

o

A

o

B

A

A

Vtt

Vatt

VV

VV

KCL

VV

VVsI

s

IVV

=

=

=Ð

=Ð

-

+-=

++=



[image: image4.wmf]20

10220

22

0

22

0

0

2333

combinig these equations yeilds

13

()()

2323

at steady state 

8(41)4(432)

5.2297.77

134

()5.22cos(297.77)()

B

B

AB

o

o

also

VVV

VIVVVV

sss

VVV

ssss

j

V

j

VttutV

=+

=+==+

+++

=-

++++

-+--++

==Ð

-++

=+


_1052049218.bin

_1052217963.unknown

_1052217984.unknown

_1052049140.bin

